°
°

°

HV
1V
Od
1V
HV
Og
HV
HV
Od

Jjouad ap 11U

°

°

°

°

°

7 epm
7 epm

DJJe| epm

°

°

7 epm

DJJ2| epm

°

DJJe| epm

Jjoud op 11U

°
°

joud ap U

°

°

°

°

10[044 2ub
10lodg oub
10(0J44 2ub

‘lloJnDN U
|e4MIDN U

JjoJnioN U

D5 NOO VA

}0Jq

°

JOPOWNW

°

100

°

Sle
510

21D(]

12l g0

ON

°
°

JAD

°

JNDH

s10f 49

ONO | N3 1130dc

buo "yoy

00G/ |
00GZ/ |

JognT op juswoednodb o supp o|gpilod nNboe p NDOSS

DUJOD
Unp o

quJBO&OI opNn1J

°

D] 9p 19 anb

°

qos

°

°

°

/

°

°

°

M 18
ol

°

ADID 8U9IAS UNp )

¢

o
+
¥ 1003.099 2 ;RAVDE BRég STA = 0+089.35
957.177 a2 GRADE BREAK STA = 1+565.27 9 -
= . i o
g ) 1003.220 a Co 1027.514 + GRADE BREAK STA = 0+000.00
J 3 | 8 ELEV = 1027514
o
=z
955.664 956.465 x W >y
8 ~
1003.965 1004.623 g U o |
o U 1020.531 1021.331 +
<) = =
O o N
o 2 |
~ ¢ s o)
953.496 954.296 ; 7 1004.736 1005.536 3 GRAD! ‘STA = 0+177.88
3 / ] m %
GRADE [BREAK STA = 1+665.27
= o
/ FLEY . 1016.909 1017.709 + GRADE BREAK STA ¥ 0%100.00
° E[EV = {016.900
[S) T
, I
- X r—
951.028 951.880 3 - ° M
8 / W 1004.736 1005.536 3 GRADE BREAK STA = 0+177.88
i 5 o 2
| @ 1013.901 1014.702 S GRADE BREAK STA = 0+148.50
1004.419 1005.293 7 Pt :
> N °
o
. W ° pd
948.302 949.111 H €0) W
(On —
g@vns BREAK STA + 1+765.27 U |
S 0 ° -
O 1003.083 1003.801 F —h =z
; M iy N N
: ) — ~ o
945.316 946.122 + I',T"I |
= JADE BREAK[SFA = 0+277.88
V= o >
3.80 4.898 cRADEBREAK STA = 0+148.50
1001.699 1002.573 7 Q o — | j FLE e
. - 4 M 1013.232 1014.032 | (g GRADE BREAK STA = 0+160.81
© — S o=
- [24]
942.211 943.011 & m = 0
S O
GRADE BREAK STA = 1+865.27
ELEV = 941.250 - 2 M
1000.286 1001.086 'S GRADE BREAK STA = 0+344.70 —
S FLEV -F«m
2 ‘ M
~
=]
939.108 939.931 3
o
° o
=} 1013.901 1014.701 + GRADE BREAK STA = 0+000.00
. 1004.736 1005.536 é 3 ELEV = 1013901 -
+ =3 ©
937.009 937.809 o GRADE BREAK STA = 1+933.31 ©
“@ ELEV = 937.009
a
9 =z
=} 1014.227 1015.027 +
1006.024 1006.831 Y % Il N
1006.018 1006.818 ] | GRADE: K STA = 0+054.29 3
& FLEV : an
B il , |
— ; oy}
M "
- / N
1011.747 1012.547 + GRADE BREAK]STA = 0+100.00
o 7] EV = 1011.747
o b
1005.229 g =
§ GRADE BREAK STA = 0+380.99
2 TEV = 1004.425 A
© O
¥ 1004.221 1005.021 £ il
937.009 937.809 o GRADE>BREAK STA = 1+933.31 - - 3 = oy f—
a =937, 5] 1007.326 1008.127 i —
o N @ m
936.593 937.392 3 © 0
g I I
> x>
o
g 1002.991 1003.791 T ((ﬂ S oo e ?
. 5 = GRADE BREAK STA = 04195.67
3 & EIEV = i%zm
N o
935.222 935.913 t U U N
S A V)
®) O
v Bl ° T
934.008 934.808 e GRADE BREAK STA = 2+033.10 1000.254 1001.099 a —
V= 3 GRADE_BREAK STAF]0+508.55
G SFAOp © BT e T
3 - 5/
+
999.155 999.955 @ = 8 o
N g?\?i%‘é? CLEELEE 1013.230 1014.030 $ GRADE BREAK STA = 0+000.00
I E:E; - 6 3.§w
& 8
>
2 N
1012.814 1013.614 g o
(5]
° I
2 @
934.008 934.808 + GRADE BREAK STA = 0+000.00
: > : N
© ~ 999.155 999.955 & GRADE BREAK STA = 0+527.93 N
N EEV = 155 -
o & 1011.558 1012.358 + CRADE BREAK STA = 0+100.00
o TEV =
| 997.904 998.861 ¥ 8
o a9 A
931.313 932.113 ? h - ! o
g 5 : m
o
(@) E
U 1010.039 1010.839 ?
o
Py, 994.851 995.711 i 3 ,
o O g °
928.591 929,591 £ g@vnz_a 2 SIA N 1010.173 2 GRADH BREAK STA = 0+176.68
= — > ELEV £ 1005.373
+ [=2]
928.018 928.818 = GRADE BREAK STA & DH17.41 L
3 TEV = 428 @)
4: o
992.082 993.016 -él o
“ ZY)
O
M
— o
N [=) M 1013.232 1014.032 X GRADE BREAK STA = 0+160.81
b 989.607 990.407 + - - 2 ELEV = 1013232 -
934.026 934.826 2 GRADE|BREAK STA = 2+033.10 = .
[ =- X o =y
933.205 933.997 2
a GRADE BREAK STA = 0+]727.93 .
f FLEV = SR 1010.922 1011.722 g >
o . S N
j> 986.358 987.158 N GRADE BREAK STA = 0+744.88 < N
_h 3 V = 956.358
@) 3 I
I pd
932.170 932.970 ¥ |
g W o -
e 1008.569 1009.400 x o
(4]
86] o CRADE EREAK STA S +260.81
GRADE |BREAK STA = 2+133.10 .
ELEV =I_§$37§3€ A
- o @)
934.711 935.486 + Py M
o -
8 @) . =
1006.483 1007.320 +
- o 8 m
— 986.368 §87.088 CRADE BREAK STA| = 0+748.88 <
M e i ELEV = 986.358
8 // 2
937.267 938.113 $ / 1004.930 1005.730 “ N GRADE BREAK STA = 0+336.12
S & 5 ELEV = 1004930
7 R
938.242 939.042 N GRADE BREAK STA = 2+219.56 -
e e 982.959 983.759 £
[o:]
(] o
- /
Y pd
> o N
N 1004.930 1005.730 = GRADE K STA = 0+000.00
O ) 8 1
979.635 980.435 + / GRADE BREAK STA = 0+848.88
| ] = o ™
o | | “ N
937.009 937.809 + GRADE BREAK STA = 0+000.00
= / ELEV = '937.000 (@)
o /
o
g % © 1004.049 1004.849 5 U
935.799 936.599 S GRADE BR%%A = 0+028.12 o (é‘ Py
@ ELEV = A 976.310 977.110 $ e ®)
o A <3 1003.599 1004.399 3 REXE STA = 0+060.95
O S) 2 00353
= i =
—
M
972.956 973.771 b GRADE BREAK STA = 0+048.88
& :
o
7 ?
- 1003.599 1004.399 5 GRADE BREAK STA = 0+069.95
968.954 969.750 3 > 2 = 1003,
S W ]
S (3]
(@)
/ | 2
/ 1002.123 1002.923 +
=z 8
/ N
064.616 965.416 & / GRADE BREAK STA = 1+048.88 O >
a = X
A o (@)
999.794 1000.594 + |
O 5 .
! oy,
. — . GRADE_BREAK a_"\-n 0+169.95
961.946 962.735 + m = A
o
998.820 999.620 t U
S ZY)
O
. - % i
958.915 959.715 + GRADE BREAK STA = 1+148.88 —
g ' -
M
o
998.605 999.405 $
[s]]
= /i
. d GRADE BREAK STA = 0+269.95
956.065 956.865 + EEV =
= =)
+
“ 998.357 999.157 5 GRADE BREAK STA = 0+289.28
° ELEV = 1357
N
oo
¥ CRADE BREAK STA = 1+248.88
952.723 953.524 & i b S =
- N
| (@))]
o |
1004.930 1005.730 o GRADEAEEAK STA = 0+336.12
- (=] -
950.477 951.277 + Q |
y 1004.931 1005.736 5 ~
- 8
1004.759 1005.559 = ’ GRADE BREAK STA = 0+365.95
o ELEV —%&m
8 O
¥ -
948.067 948.869 Q@ GRADE BREAK STA = 1+346.54 —
> ELEV = 067 —
g M
o
1005.559 é GRADE BREAK STA = 0+000.33
o g ELEV = 1004760
948.068 948.869 + GRADE BREAK STA = 0+000.00 (=}
3 FLEV = 948,068
(s
o
1004.021 1004.821 +
o =z &
945.816 946.617 + o
2 N
= (@]
@
— [}
N 1001.843 1002.643 + E BREAK STA = 0+100.33
o o
942.896 943.697 + CRADE BREAK STA S~44+100.00 o
S EeHE
o
U
V)
O .
1 999.812 1000.612 T -
o ,_ o
940.984 941.785 + o
o m N
[« \,
@
T 96.542 997.345 ? o
940.966 941.767 o | GRAPE BREAK| STA = 0+192.87 296, - N CRADE BREAK SHA = 0+24D.35
N ELEV = 940 S ¥ ~
[a4]
~
U
ZY)
. O
993.681 994.481 F i
g —
M
B
. 3 GRADE BREAK STA|= 1+346.54
348089 348889 x il
o
$ 991.371 992.170 a GRADE BREAK STA = 0+300.53
g ELEV = 991.370
o
950.446 951.247 T
8 Z 991.458 992.256 $
N : ’ &
© 8
=
952.938 953.738 * e L
] (@) o
o 991.295 992.094 +
Y 990.677 991.477 %
O &
955.023 955.844 ¥ \ _'——I
w ,_
g \ z
© M
,é N
v -
\ I
- GRADE BREAK STA = 1+546.57 g <
= 1+548. ¥
956.775 957.573 & FLEV = 1004.759 1005.559 o orave BRelk s7A = o+365.95
2 & g ELEV = (_004.759
&
957.178 957.977 S GRADE BREAK STA = 1+565.27 1004.429 1005.229 Q CRADE BREAK STA = 0+380.99
Y ' S ELEV = _1004.425
N @ U
A
@)
il
—
M
° =
1004.429 1005.229 g GRADELB STA = 0+000.00
S 00
>
N
o
1003.564 1004.364 g G0
3 U
A
" O
1003.099 1003.899 g o
X X GRADE B STA = 0+089.35
3 =0
] M




